Rezultati tihih

vaj OPTICNE KOMUNIKACIJE

Priimek in ime 1l.tiha |2.tiha |3.tiha |4.tiha |5.tiha |Vsota Ocena
vaja vaja vaja vaja vaja
14.03. |04.04. |25.04. |15.05. |30.05.
2013 2013 2013 2013 2013
1 |Ajdisek Joze 10 7 4 11 32 87%
2 |Bavdek Matej 8 8 7 6 29 74%
3 |Celar Ales 7 10 8 10 35 100%
4 |CurisS Tomislav 5 7 9 25 57%
5 |Gerksic Katja 10 10 6 8 34 96%
6 |GodejSa Matic 9 8 9 35 100%
7 |Golob Teja 7 4 6 22 44%
8 |HasanovicC Damir - 6 7 11 24 52%
9 |HocCevar Joze 6 6 6 10 28 70%
10 |Jurjevic Jure 8 7 5 8 28 70%
11 |[KoSmerl Joze 6 7 9 9 31 83%
12 |Pekevski Bojan 4 5 7 6 22 44%
13 |Perosa Jan 4 - 2 - 6 0%
14 |Rujanoska Brankica |5 5 5 9 24 52%
15 |Rzarova Tatjana 7 8 8 8 31 83%
16 |Stanic¢ Simon 8 7 9 10 34 96%
17 |Sstanovnik Karel 9 7 6 9 31 83%
18 |Sali¢ Primoz - 7 6 - 13 4%
19 |TursSic¢ Ana 7 7 7 11 32 87%
max/min 10/4 10/5 9/2 11/6 / 35/6 |100%
/0%
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